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For the parabola y = 2x% — 4x — 6 that you just graphed, for what x-values is the y-value 10?
Approximate the x-values from your graph.
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For the parabola y = x? — 8x + 12, for what x-values is the y-value -3?
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Any line y = mx + b on the Cartesian grid is a relation.
Acircle, (x — 5)% 4+ (y + 2)? = 25 is a relation.

The set of points {(5, 6), (1, 2), (3,4), (3,7)} is an relation.

Any parabolay = x2 — 5x 4 4 is a relation.
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FW\ Ction is more restrictive. A function is a relation where each
x-value must have only 1 y-value. £ =D = (3.0 (3,1) (3,2)(3,3) etc..
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List a set of points which is b

a) not a function
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Find the domain and range of: (Assume the graphs continue)
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Function Notation

For functions, there is a special notation we can use.

In the past, you have written functions as y=mx+b or y=ax%®+bx+ c.

A L % )
With function notation we replace the % with +Cl) . | — L + OF X') :

This notation gives more information than “y”.
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There are two common points of confusion among many students:

Confusion point 1:

f(x)isNOT (i “"‘M“C";FHCC’{‘!;\\C\A Cﬂb‘i’ ) fcmés\ 1 )

Confusion point 2:

f (x) altogether means only “y” — and it is weird that there are 2 things representing 1
thing! s
ton =% o> —F

Think of it this Way:

f(x)=mx+b
means
f(@=mO+b

f(xX)=ax*+bx+c
means

f(=al*+b0+c

where you can put a number in the box!

Example 1
For the line f(x) = 3x + 4, find f(3) What point is on the graph of f (x)?
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o= 9+4 |
"F(a) = 13 > (3, 1% ) ¢ He polt on te graph.
Example 2
For the parabola g(x) = x? — x — 2 find g( 2) What pomt is on the graph of g(x)?
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Example 3 _
Suppose that, h(x) = —5x — 2. For which x does h(x) = —12?
M=)y — J=(
e — e o — i 9 S .
—2+2 = -5%

—o =—5%1 o



